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First Semester M.Com. Degreé Examination, February 2022

H - sDE |
Paper V CO 215 ADVANCED CORPORATE ACCOUNTING
(2017 Admlssmn Onwards) |
| Time : 3:_Hour_s LT S ' o A Max. M_ar_ks : 75-_. |

' SECTIQN -A

Answer all questrons Each questlon carries 2 marks

1. List any four IFRS. | . k
What do you understand by IFRS Interpretatlons Commlttee’?
Define-a sub5|d|ary company '

V'What is meant by post acquisition profit?

© What is Right issue of Share? |

What is yield method?

Who is a quuidator’?

What is meant by défjciency or sdrplus account?

© ® N e ;A ® N

Reinsurance — what it is?-

-
=

What is a surrender value? -

(10 x 2 = 20 Marks).
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. Answer any,five-questions. Each guestion carries 5 marks.

SECTION - B

rch 2020

“The following are the balance sheets of H Ltd and 'S Ltd as at 31 Ma

11.
Liabilities Hitd | Sltd - Assets Hitd -| . Sltd
‘| Share Capital: | "|” sunday Assets 100% | 4,70,000 | 2,60,000 |
- Shares of Rs. - Shares o
10 each I inSLtd.
fullypaid | 5,00,000 | 2,00,000 ' 210,000
Reserves 1,00000|
Creditors | 80,000. | 60,000 | | e
| 6,80,000 | 2,60,000 | 6,80,000 | 2,60,000 |

S 12

13,

14,

Prepare a consolidated balance sheet as at 31 March 2020. . o
‘The authorised- and paid up capital of a company consists of -1,000,5%

preference shares of Rs.100 each and 20,000 equity shares of Rs. 15 each, all .- |

fully called up and paid up. A person halds 300 preference and 2,000 equity

shares. Find out the value of equity shares held by the person assuming that the

normal annual profit of the company is Rs. 40,000 and the normal annual return
on similar equity shares is 8% per annum. Assume that the company transfers

- 25% of the profit to General Reserve and the_ profit 'given‘ab'ov_e is profit aftertax. .

KGR runs a chemist shop. His net assets on march: 31, 2020, amount to
Rs. 20,00,000. After paying rent of Rs. 15,000 a year to the landlord for premises

- valued at Rs. 1,00,000, salary of Rs.20,000 to"the chemist, he earns a profit of

Rs. 1.5 lakhs. His landlord, who incidentally is the chemist of the shop, is keento .
- purchasethe shop. 12% is considered to be a reasonable return on capital
employed for this-type of business. What can KGR expect as payment for.

goodwill?

The following balances are extracted.frofﬁ'the books 'QfAA‘B Life Insurance

Corporation: -~ : .

Life Insurance Fund (as on 31.3.2020) -

Net Liabilities as per valuation

Inferim Bonus Paid

You are required to show: |

(a) - The valuation Balance sheet as on 31 .3.2020
- (b) - The distribution statement. '

- R5.1-,20C_) Iakhs
- Rs. 150 -|akhs_.

2 m-aTts

.~ - _Rs. 1,600 lakhs




15, XYZ éompgny went into liquidation with the following liabilities
(a) Secured Creditors Rs.20,000 (sechriti,es realised Rs.25,000)

(b) 'Prefefen-tial Creditors ‘Rs.:'SOO o

‘. (c) Unsecured -Creditors "R's.30,000, Jliquidaters - ou_t'of pocket 'expenses- |

amounted to Rs. 252.-
The liquidator is entitled to a remuneration of 3 per cent on the amounts realised -
including securities in the hands of creditors and 3/2 per cent on the amount

distributed to unsecured creditors. The various assets (excluding securities in the:
hands of secured creditors) realised Rs.26,000. Prepare the liguidator's agcount

showing the compensation given to unsecured creditors. S o
16. Explain the importance of IFRS

17. Write short note on the 't-ypes and procedure of valuation of shares. - '
- SECTION-C

Answer any two of the following questions. Each question carries 15‘marks.-_' .

18." Discuss the scopé, advantages and d'isadvanfages of IFRS.

: 19. The following particulars 'helate to A Ltd. Company which has gone into voluntary

liquidation. You are required to prepare the liquidators final accounts, allowing for
his remuneration at 2% on the amount realised and 2% on the amount distributed

 to unsecured creditors other than preferential: ST o
Preferential Creditors - Rs 10,000 - .
Unsecured Creditors — Rs. 32,000

- Debentures — Rs.10,000

The Assets realised are:
Land and Buildings — Rs.20,000
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- 20.

~

Plant and Machinery — Rs. 18,650

Furniture and fittings — Rs. 1,000

Liquidation Expenses — Rs. 1,000

The life fund of a life assurance company was Rs.70,00,000. 'Its-actuan'al
valuation on 31% March, 2020 ‘disclosed a net liability of Rs.57,00,000. An
interim bonus of Rs.1,00,000 was paid to the policy holders during the two years.

- -1t is proposed to carry forward Rs.2,20,000 and divide the balance. Show the

C 21,

_ valuation bafa}nce sheet and the distribution of net profit.

Whafare the objectives of lnternation.al Accounting S_tand_ards Committee? State

 the standards laid down by it regarding disciosure of accounting policies.

(2 15 = 30 Marks)
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